## SUBTRACTION SENTENCE

## Subtraction Sentence



## Example 1:

Find the subtraction sentence.

$$
5-3=?
$$

Solution:

$$
=
$$

Therefore,

$$
5-3=2
$$

## Example 2:

Find the subtraction sentence.

$$
4-2=?
$$

Solution:


Therefore,

$$
4-2=2
$$

## Example 3:

Find the subtraction sentence.

$$
9-5=?
$$

Solution:


Therefore,

$$
9-5=4
$$

## Example 4:

Find the subtraction sentence.

$$
8-3=?
$$

Solution:


Therefore,

$$
8-3=5
$$

## Example 5: Find the subtraction sentence.

$$
10-?=7
$$

## Solution:

To find the subtrahend, move the difference to the left hand side.
Minuend - difference $=$ subtrahend $10-7=?$

$$
\begin{aligned}
& =90 \% 0_{8}^{9}
\end{aligned}
$$

Therefore,

$$
10-3=7
$$

## Example 6: Find the subtraction sentence.

$$
6-?=2
$$

## Solution:

To find the subtrahend, move the difference to the left hand side.
Minuend - difference = subtrahend $6-2=?$

$$
6-2=1 \times \because \quad X:
$$



Therefore,

$$
6-4=2
$$

## Example 7: Find the subtraction sentence.

$$
9-?=3
$$

## Solution:

To find the subtrahend, move the difference to the left hand side. Minuend - difference $=$ subtrahend $9-3=?$

$$
\begin{aligned}
9-3 & =x \times x \\
& =\text { hen hat he }
\end{aligned}
$$

Therefore,

$$
9-6=3
$$

## Example 8：Find the subtraction sentence．

$$
4-?=1
$$

## Solution：

To find the subtrahend，move the difference to the left hand side． Minuend－difference $=$ subtrahend $4-1=?$

$$
\begin{aligned}
& =0 \text { 沙洸 }
\end{aligned}
$$

Therefore，

$$
4-3=1
$$

## Example 9: Find the subtraction sentence.

$$
7-?=2
$$

## Solution:

To find the subtrahend, move the difference to the left hand side.
Minuend - difference = subtrahend

$$
\begin{aligned}
& 7- \\
& \text { n in }
\end{aligned}
$$

$$
=\text { ® }
$$

Therefore,

$$
7-5=2
$$

